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int m, n;

char chl, ch2;

double di, d2 ;
const float p = 3.14;

w17 St 13) WS 0 Jbl 1y Al 31 cob iz g Sl ygiws .Y

long double x, y;
char ch;
float f1, f2;

long C};)gﬁ\fh Y 5 X gla e 51K a5 S e Jlasl 1) bl 51 Cul YA (Sl s o
ol S e Jleal | (float ¢ 55) <L F oSG 212 51 5 (char ¢ ,5) <ol < ch «(double
S o JREI ) b (20 + 1+ 8) 29 T yemmo Oy g2

s U3y =4 9X=5 Slil 4ty g5 ol ¥
Wrn=x+@*2)/6+y/8;
:r-‘-AJLSA)‘Jé Q)L:.GJ: bﬂbu.a
m=5+(14*2)6+4/8
m=5+8/6+4/8
m=5+1+4/8
m=5+1+0=6
:Mglgjﬁyzgy 9 X=4 Shilaly g5Ske ¥
Pln=x>y?x*3:y*3;
:ﬁﬁJ&SAJ‘J';y}X )}bﬂ)&.ﬂ‘u\l{‘
m=4>373%3:4%*3;
.éﬁfdjlj;mjé (9)3*3‘3)‘3@”)3JJ)|‘1’J‘&J‘0}>:A}";'g_sﬂg_s'lf.).)‘4>3¢)u
$0 957 o0 31 B X 58 (53100 43 () D 5g5wd Sl 3 o)
int X;
long double y;
X = sizeof y;

= long double g5 yJ_:;aﬁ‘r,;,}:_wag.t_:qua_,’aint@;)mxﬁs;“djt,,;u
)‘j.g Xy ‘@‘ﬂu‘f'Mbd"‘)‘J‘; X j:iu)bu.:;‘\rwbub y}:&:atyd}lécry)}zw:)v\fg
(&S o Jlst 1, b)) dong double ¢ ) 5,8
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By =255 % x - 18 * x + 15;
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y=X<<8;
yl=y-x;
y2 = X << 4;
y2 +=(X+X);
y=yl-y2+15;
T A9 4> M e Hlie g3 ©sbe Sl l 3 s
Bln=(y=0,x=+y,m=y, y+2);
OS5 (o D13 X 53 ol Bablol donls S Y 4 psd Sole 53 5355 0n o bl Y
b o Sl 55 M oty 55,5 o J15 M 3 Y cgdm Sple 4o .Sl &5 Ll Y 5 Xl
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using System;
namespace p8 Son AR
{ -
class Program IS5 eSS 055 | M
{ T e oss |
static void Main(string[] args) <A S 0l
{ @3 HaToss | W
double m=3.0e-23,1=950,tedad;
long w; b g okl
Console.Write("Enter w:"); = N
w= long.Parse(Console.ReadLine()); R tedad

tedad=(w*1)/m;
Console.WriteLine("Tedad = {0}", tedad);
Console.ReadKey();

Enter w:12
edad = 3.8E+26

| | |
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b e p SS
using System; T >
namespace p9 JLNQ‘)M age
{ d

class Program b oy oy second
{
static void Main(string[] args)
double ss = 3.156e7, second;
int age;
Console.Write( "Enter age:");
age = Convert.ToInt32(Console.ReadLine());
second = age * ss;
Console.WriteLine( "Second = {@}" , second);
Console.ReadKey();
}
}
}

R tie /770 /BookC Shamp/mewCSha Practic/ 1/p 3/ S/bin/Dubug/p9 EXE

Enter age:50
econd = 1578000000

1 | oy

ulod 03 5 duilo 1) o 8L 9 Ol cdow oNilgS 1) Gkl Fgd> 45 Slaoly )¢

bl o0 Bgd> o3 Ve 9 i 4 DLW § dow RS 0
using System;

?amespace p1e -V SN
class Program & s> S
static void Main(string[] args) daw b
{ 3
long p,s,m,b; ST L
Console.Write("Enter salary:"); L P
s = long.Parse(Console.ReadlLine()); Bl
b=s*7 /100;
m=s/10;
p=s-b-m;

Console.WriteLine("s = {0} b = {1} m = {2} p = {3}
"y S, b, my p);
Console.ReadKey();

nter salary:10000000 .
= 10000000 b =700000 m = 1000000 p = 8300000

« ] Y
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using System;

namespace pll S S
P t

class Program >

{ Jsdl VS s | V1

static void Main(string[] args)

{ o Y8 s | Y2
double t, yi1,y2,y3; ol
Console.Write("Enter price for yearl:");

y1l = double.Parse(Console.ReadLine()); 2V s o | V3
Console.Write("Enter price for year2:");
y2 = double.Parse(Console.ReadLine());

= (float)(yZ yl)/yl
y3 =y2 + y2 *

A Jle

Console.wr‘ite("Exter‘a = {@}\t\t Price next year = {1}",t, y3);
Console.ReadKey();

B fde ///D-/BookC Shaup/new(Sharp Practic/ 1/p 1 1/p 1 1/bin/Debug/p 11 EXE X
nter price for yearl: =
nter price for year2:220000 -
xtera = 0.1 Price next year = 242000_

< | _'JJ
Mlgd 0 9 T 0 S0y Foi Clogi YO« oo dilak 355 acttio B 4 e g VY

O 0 Blol S8 Hh 4y B 4 Hd BVl S Blol aaste B Ggi> 4 we 0 1T/0 I 4 Wil
ARS8 0 Pl 1) HI7 ol oilgs ) O 4 ymaastin Sluss 45 (Sldob g

using System;

namespace pl2 Coda e
{ .. .
class Program (Laae o Gyax) Voo oe | PAY
{ oS E s sluas | tedad
static void Main(string[] args) T G
{ 55k 0 Lol S (cla 5a | EXIETA

int pay=750000, tedad;
double extera;
Console.Write("Enter tedad:");
tedad = Convert.ToInt32(Console.ReadlLine());
extera=(double)pay*12*tedad*13.5/100; ;
Console.WriteLine("Extera is {0}" , extera);

Console.ReadKey();

}
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[N file-///D-/BookCSharp/newCSharpPractic/1/p 12/p 12/bin/Debug/p 12.EXE . =] .4
Enter tedad:10
Extera is 12150000

[ | vl

A 0 Sl 1 OT gl 9 pB I Egommo oilgs 1) 0890 SO 45 Slaaliy N Y
using System; ; =

namespace pl3 i e
8L,s sae | UM

class Program
{ OE;iij nl
static void Main(string[] args) —
{ O&A;r_;) n2
int num, nl1, n2;
Console.Write("Enter a number:");
num = int.Parse(Console.ReadlLine());
nl = num % 10;
n2 = num / 10;
Console.WriteLine( "Reverse is {@}{1}\tSum is {2}",
nl, n2, nl + n2);
Console.ReadKey();

W file-///D-/BookCSharp/newCSharpPractic/1/p13/p 13/bin/Debug/p 13.EXE
Enter a number:65 ] B
Reverse 1s 56 Sum 1s 11

<« | 4y
1S o0 dewlxo [ 95 O le (O p0 Slos Hl odlatul 9 oklgs 15 X 457 (Sl y NY
y=31*x-17*x+5

(MA’@ o liw! (W“W) << Khoe 31O 4o plmil (Sl ol 9 0l 50 @495)
using System;

namespace pl4 S4B P s
31*X ,luze | M
class Program
{ O . . . '17 * X )‘..\.E.n n
static void Main(string[] args)
{ B sde X
int x, y, m, n;
Console.Write("Enter x:"); Solsans | Y

x = int.Parse(Console.ReadLine());

m= (x << 5) - x;
n=-((x << 4) + x);
y=m+n+5;

Console.WriteLine("y = {0}", y);
Console.ReadKey();

}
’ [N file-///D-/BookCSharp/newCSharpPractic/1/p 14/p 14/bin/Debug/p 14. EXE [_ O] x]
Enter x:15 ﬂ
y = 215
«| | »

v

N
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W 5 58 calaiuld ye0
using System; . o
namespace pl5 S e
{ . a
class Program e ol
{ Sde (9 b
static void Main(string[] args)

'{ Sde J:‘j"“ c
int a, b, ¢, max; >
Console.Write("Enter a:"); 349¢ﬁjhif)ﬁ max

a = int.Parse(Console.ReadLine());
Console.Write("Enter b:");
b = int.Parse(Console.ReadLine());
Console.Write("Enter c:");
¢ = int.Parse(Console.ReadlLine());
max = (a > b) ? a : b;
max = (max > c) ? max : c;
Console.WriteLine("Max is = {@}", max);
Console.ReadKey();
}
}
}

Sl A5 0 Pl 15, 0dd Wile 4 79 EVEN wjle wail 795 sue 51 ouiles 15 Goue 47 slaby N F
S NUM giiio 53 (8L 35 Sue cdoli gy oyl 38 . 38 o0 51,5 oolaiwldige %0 9 7 (Sl Khos dliwo o3l o>
.éx’f@

using System;
namespace plé

{
class Program
{
static void Main(string[] args)
{
int num;
Console.Write("Enter a number::");
num= int.Parse(Console.ReadlLine());
string s = (num % 2 == @) ? num.ToString() +
" is Even" : num.ToString() + " is odd";
Console.WriteLine(s);
Console.ReadKey();
}
}
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8 file-///D-/BookC Shamp/newC SharpPradiic/ 1/p 16/p 16/bin/Debug/p 16 EXE HER

v
1 I I N4

NS 0 oo g3 D04 1) 9 (S WL 0311 onilgS 15 (80 8 pw § 039 B &5 Sy NV
ot 52 €53 o 90 g e Jho TA 31 it S0 (513 505 393 4131 ot 52

ot 25 Lo 53 JU T 3l Gl S Sl 8 G152
OS 1B1500 50 +,) 0gMed DAY gl 039 L gl g 0 590 031
S 138 500 Jo A pmdl | 0gMedy (B % 039 b gl S 598 0310l
8 pemads 7 % 039 b gl g o 03101

using System; Gud 51
namespace pl7 i
LS
class Program
g Gis | W
static void Main(string[] args) ol e
double size c, size d, size k; oS o5l | size_cC
int s, w, e; " 7
Console.Write("Enter s:"); S s el | size_d
s = int.Parse(Console.ReadLine()); S o5l | Size_k
Console.Write("Enter w:"); — -
w = int.Parse(Console.ReadLine()); JECIYRINCAT Ry %)
Console.Write("Enter e:"); LY |
e = int.Parse(Console.ReadlLine()); de ¥ p el
size k = 2.9 * w / s; Gl oS il ey e | Y2
int yl=(e > 28)?(int)((e - 28)/2):0; Juys
int y2=(e > 30)?(int)((e - 30)/10):0; o

size.d =w / 5.7 + 1.0 / 10 * y1;

size c =w * s +1.0 / 8 * y2;

Console.Write("Size_c = {@}\tSize_k = {1}\tSize_d = {2} ",
size ¢ ,size_k, size d ) ;

Console.ReadKey();

}
er s5:50
Enter w:30
Enter e:50 )
Size_c = 1500.25 Size_k = 1.74 Size_d = 6.36315789473684
| ] _;f]
1
y = m TS (0 Ao [ Blie O sbe fol> onilgS (6899 3 1) X slade 457 (Sl4eb y A
using System; Gud so
namespace pl8 =
{ $2909 X
class Program
{ g Soleans | Y

static void Main(string[] args)

{
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double x, y;

Console.Write("Enter x:");

x = Convert.ToSingle (Console.ReadLine());
y =10/ (x *x+x+ 1);
Console.Write("y is {@}" , y);
Console.ReadKey();

Enter x:10 R
y is 0.00900900900900901

14 | v 4
P95 308 § (S G slue &K Cwglio ol dus) Wilgs 0 (53939 3 15 S 98 45 (Slab y .V 4
RO 0 i led 08 ¢ duloro 15 59 blao Jaod b (A 0 sulei ) OT Ob =
3We= caglin ™ Ok 2

using System;

namespace pl8 | B
{ g;ﬁju.a r
class Program
{ Sb~ |8

static void Main(string[] args)
{ Wy |V
double x, y;
Console.Write("Enter x:");
x = Convert.ToSingle (Console.ReadlLine());
y=1.0/ (x *x+x+ 1);
Console.Write("y is {@}" , y);
Console.ReadKey();

}
}
}
| EM file-///D:-/BookCSharp/newCSharpPractic/1/p19/p19/bin/Debug/p 19.EXE [_To] x|
Fnter r:10 ﬁ
Enter a:20
v is 200_
| | 2 4

(@) 0Lz 5 (1) Cnslin ply 655 L cos 187 iy i 1N g 05 5111 5Lin s 50 (sl piie ol caols 5 !
e o holad 03 gad dwloee |y S g caalsl s Ll o 3L s
dulbo g3 Jood b ol baio o 4 Silge seba & R3 9 R2 R1 slacwglio £aoom0 .Y
HY W)
1 1 1 1 RZ+R3+R1%R3+R1xR2

1
R RIL RTR3 R R1+R2 * R3

ST (0 delro [y IS Cwglin 0l (63999 31 1) Caoglin dw 45 (ST4ob g
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using System; R .
namespace p20 S >
{ \ Coeslie rl
class Program
{ Y el r2
static void Main(string[] args) ¥ ol r3
{ -
float r, rl, r2, r3; JS caglis R
Console.Write("Enter ri:");

rl = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter r2:");
r2 = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter r3:");
r3 = Convert.ToInt32(Console.ReadLine());
r=(rl*r2*r3) / (rl * r2 + r2 * r3 + rl * r3);
Console.Write("r is {@}", r);
Console.ReadKey();

}
}
}
[ file:///D:/BookCSharp/newCSharpPractic/1/p20/p20/bin/Debug/p20.EXE O] x|
Enter rl:10 A

v

M 4
e 1 o0 5 0T el &K L cos ST i a5 Fl0At oy pots 15 13 5 12 0 TLAr (gl e 4l

(| |

..Uhsgsn&L&J‘@bﬁ@&n@ﬁdk{dﬁ}l{bf@jﬁn
B3 0 e P w15 0T 039 9 Wi 0 SBLI3 £ TRk oy 13 (VI 0039 & Slaoy .Y )
sl P57V 00 9l P TGS B
using System; o o
namespace p21 Ss >
{ 039 p S sks | kg
class Program
{ CJ? 4008 9

static void Main(string[] args)

{

long kg, g;

Console.Write("Enter weight(kg):");

kg = Convert.ToInt32(Console.ReadLine());
g = kg * 1000;

Console.Write("Weight(g) is {0} ", 8);
Console.ReadKey();
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using System;

d o
namespace p22 e X
& si- | Salary

class Program

Lilsl reward

static void Main(string[] args)

{

int salary, reward;

Console.Write("Enter salary:");

salary = Convert.ToInt32(Console.ReadLine());
reward = salary * 15 / 100;
Console.Write("Reward is {0}", reward);
Console.ReadKey();

[Enter salary:20000000
Reward is 3000000_

il | Y 4
il 1) Gk ply &S b ees S s float g5 (reward) _slsl 5 (salary) G s> casb 5 -pl
A o slad 03,8 awlee | EIsL

Bh 9y 4 05 dusloro 1) OT Corlus 0bilgs (63959 31 1y Edio 0uel g £l 51 &5 (sl4aabiy YT
o coluo =+ )0 x £yl % ousld

using System;

namespace p23 el P
{ s X
class Program Ol
{ X X X X odels y
static void Main(string[] args)
{ S WS S

float x, y, s;

Console.Write("Enter x:");

x = Convert.ToSingle(Console.ReadLine());
Console.Write("Enter y:");

y = Convert.ToSingle(Console.ReadLine());
s = (float)l / 2 * x * y;
Console.Write("Area is {0}", s);
Console.ReadKey();
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Al 0 S g0 ol Jlo O 33 388 o0 BDpan Ad JEE diy 00 7355 10 &Vl (5 40 50 YT
1y PYBI eyl Cuond 4 (STdob g9 .3518 &g 32 (51381 (S 11 Ol jugani 31 i el (Sl sdz o T Jlo 1o il
ol 98 1) o Hh obddlol 4y B D 5 0 3 1y e.»gTJLo;é P9 &5 nled o S8b O (68959 3 Jlwl 50
Solial H1do 49 15 O Wl 4ol g 457 33 5520 319 Moy D304 P 357 . 9 0 (Z9 55 4 § AT 0 duwlmo sty
A odlaiwl o/ +0F 1 b 4ol cmis” 35190, 15 prgd 1 (JloOlgied . iS™ pos
RV predy
using System; Adis o s | 34
namespace p24 -

S s | PEN

class Program
{ o . 005 t
static void Main(string[] args)
{ IEPH ISP coste
float a4, pen, t, coste;
Console.Write("Enter a4 price:");
a4 = Convert.ToSingle(Console.ReadLine());
Console.Write("Enter pen price:");
pen = Convert.ToSingle(Console.ReadLine());
Console.Write("Enter t:");
t = Convert.ToSingle(Console.ReadLine());
coste = 50 * pen * t / 100 + 150 * a4 * t / 100;
Console.Write("Extra cost is {@}", coste);
Console.ReadKey();

Enter pen price:1500
Enter t:10
Extra cost is 157500_

«| | Y 4

K am O e s 480 N 51y 9 5 (0 S 4 £955 Sl 1 5300L™ X b g b 5lguids 7290 < YO
B 0 ol (08 55 damiloro 13 91 O 5 Jgo 8 3 08liil b 45 (S1dob w0 Catls 33 sioghs”

k(&w¢4f)+ x(gﬂ¢4ﬁ)*60

- n(ol;)

using System; Bud 3
namespace p25 =

sl | K

c%ass Program Syl e | X

static void Main(string[] args) ou; | N

oks | Acceleration
float k, X, n, acceleration; -

Console.Write("Enter k:");
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k = Convert.ToSingle(Console.ReadlLine());
Console.Write("Enter x:");

x = Convert.ToSingle(Console.ReadLine());
Console.Write("Enter n:");

n = Convert.ToSingle(Console.ReadlLine());
acceleration = (k - x) * 60 / n;
Console.Write("acceleration is {@}", acceleration);
Console.ReadKey();

A

Enter n:30
acceleration 1is -20

v

Ll | M
s oSl 1 Olaj 5 adsl o (oL S Ly 5 b o3 ST i 5 1 s it casl

o 9 Wlas 0 (8599 3 1) (wogil (5) 23 b SluS 9 (5 4 yioght) b yan 45 Slacliy YF
ol AilgT o0 1y (Bluwo 4 Jamo gl (9 30 L O b &5 WS (o0

using System;

WKV Joe s
namespace p26 _
{ o b | capacity
glass Program b distance
?tatic void Main(string[] args) Os s consumption
float consumption, capacity, distance;
Console.Write("Enter Consumption:");
consumption = Convert.ToSingle(Console.ReadLine());
Console.Write("Enter Capacity:");
capacity = Convert.ToSingle(Console.ReadLine());
distance = capacity / consumption * 100;
Console.Write("Distance is {@}", distance);
Console.ReadKey();
}

}

N file-///D-/BookCSharp/newC ShampPractic/1/p26/p26/bin/Debua/p26. EXE

Enter Consumption:20
Enter Capacity:14
Distance is 70

L | '
sl 0ilo Bl 9 (3 o5 comalll 0 30 (x> bol> § A 0 Sl 33 ol 31y due 93 457 (Slanliy LYV
A o0 Dl ) BYT e
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using System;

namespace p27 S >
{ d}‘ Sde a
class Program
{ (a).b Sde b
static void Main(string[] args)
{
int a, b;

Console.Write("Enter a:");

a = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter b:");

b = Convert.ToInt32(Console.ReadLine());
Console.WriteLine("{0} {1} = {2}", a, b, a + b);
Console.WriteLine("{0} {1} = {2}", a, b, a - b);

+

Console.WriteLine("{0} * {1} = {2}", a, b, a * b);
Console.WriteLine("{0} / {1} = {2}",a,b, (float) a / b);
Console.WriteLine("{0} % {1} = {2}", a, b, a % b);

Console.ReadKey();

}

}
}

10 + 7 = 17

10 - 7 =3
flo* 7 =70

10 / 7 = 1.428571
ok 7 =

| 1 of

islarger Clie e § 555 530 O 08 7 S8l 30 9yl 31 1) e due 98 &5 (Slulip (YA
“These nuMber are <yl wicbl ;a9 dus 93 cul F1.085 0 Dl 15 Fekao8 due g than
5 o0 Sl 1y equal”

using System; A e
namespace p28 ) >
{ d}‘)u\ﬁ a
class Program
{ (:j:.w..o b
static void Main(string[] args)
{
int a, b;

Console.Write("Enter a:");
a = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter b:");
string s = "";
b = Convert.ToInt32(Console.ReadLine());
s = (a > b) ? a.ToString() + " is larger than
+ b.ToString() : s;
(a < b) ? a.ToString() + " is less than
+ b.ToString() : s;
s = (a == b) ? "These number are equal. " : s;
Console.WriteLine(s);
Console.ReadKey();

"

S
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¥
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| O file-///D-/BookCSham/newC SharpPradiic/ 1/p28/p28/bin/Debug/p28 EXE [ [O) x]

;‘I | M 4
9 RIS 33 Do Jol> (Sl (aa> Jol> 9 3 55 0 Wl 4o 3 1 due dw &5 (STaliy Y4

A g0 Pl 1y ks oy KT
RV gy
d)‘ She a
(ﬂj) Sde
S Sdhe C
using System;
namespace p29 ;4;¢wt' e sum
{ =
class Program sl dw Sl average
{
; roduct
static void Main(string[] args) e 4w Oy fol- P
{ o 5 min
int a, b, ¢, max; ;49_ﬂf_§¢}§
int min, sum, product; e o 5uE max
float average; SRS OR

Console.Write("Enter a:");

a = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter b:");

b = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter c:");
c = Convert.ToInt32(Console.ReadLine());
min = max = a;

max = (max < b) ? b : max;
max = (max < c) ? C : max;
min = (min > b) ? b : min;
min = (min > ¢) ? c : min;

sum = a + b + c;

average = (float)(a + b + ¢) / 3;

product = a * b * c;

Console.WriteLine("sum is {@} ", sum);
Console.WriteLine("Average is {@} ", average);
Console.WriteLine("Product is {@}", product);
Console.WriteLine("Smallest is {@} ", min);
Console.WriteLine("Largest is {@}", max);
Console.ReadKey();
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B tile /77D /BookC Shunp //newC Shap Practe:/ 1/p29/p 29 bin/Detng 5 29 EXE

nter a:!:
nter b:12
nter c:8

um is 30
verage is 10
roduct 1is 960
mallest is 8
argest 1is 12

bl 9y g0 P due ¢ J9l 8ue LT 457 Wi o0 Cymt 9 8™ o0 Ml Ao 31 13 due 93 45 (Slaaliy Y0

$4

bl P90 30 3 (20 J9l dus BT Wi 0 comni 0kilgs 15 due 98 4 (Sl Y

using System; Bud -
namespace p30 >
{ J}‘ Sde a
class Program
{ r})}AP b
static void Main(string[] args)
{
int a, b;

Console.Write("Enter a:");

a = Convert.ToInt32(Console.ReadLine());

Console.Write("Enter b:");

b = Convert.ToInt32(Console.ReadLine());

string s = (a % b == @) ? a.ToString() + " mod "
+ b.ToString() + " is zero." : a.ToString()
+ "mod " + b.ToString() + " is not zero.";

Console.WriteLine(s);

Console.ReadKey();

¥
s

k| BN file-///D:/BookCSharp/newCSharpPractic/1/p30/p30/bin/Debug/p30.EXE [_ (O] x|

Enter b:2
!12 mod 2 1is zero.

| v
1 | :.DI

S o0 Sale 1) B () FEaS 9 oy Sy oiled (5 Zuo due iy & Sldeby YN

Son gres
sde odl a
Sde a9 b
Sde e g C
sde e | d
3de ezl [

sde o 58,5 | Max
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using System; sde oy 5SS | Min
namespace p31
{
class Program
{
static void Main(string[] args)
{

int a, b, ¢, d, e, max, min;

Console.Write("Enter a:");

a = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter b:");

b = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter c:");

¢ = Convert.ToInt32(Console.ReadLine());
Console.Write("Enter d:");

d = Convert.ToInt32(Console.ReadlLine());
Console.Write("Enter e:");

e = Convert.ToInt32(Console.ReadlLine());
min = max = a;

max = (max < b) ? b : max;
max = (max < c) ? c : max;
max = (max < d) ? d : max;
max = (max < e) ? e : max;
min = (min > b) ? b : min;
min = (min > ¢) ? ¢ : min;
min = (min > d) ? d : min;

min = (min > e) ? e : min;
Console.WriteLine("Smallest is {©}", min);
Console.Write("Largest is {@}" , max);
Console.ReadKey();

1<l | Ay

25 Dgmodn 131 U e dae g Ulg FOlgh 45 (Sldoly s d fud oyt 33 45  JBICo! 31 oaliul b XY
Ol L 45 sl 0d 303 ol ool bghas 31 w905 sudslio 457 b 0led 1gs) Tuled o Sz J9
(Sl anlgs Sal” ol g Jud (9 Dl yghwd Sl m b 58 51 ;S (Sl dal>
using System;
namespace p32

{

class Program

{

static void Main(string[] args)

{
Console.WriteLine ( "Number\tSquare\tCube");
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Console.WriteLine("{@}\t{1}\t{2}", 0, @ * @, @ * @ * Q);
Console.WriteLine("{@}\t{1}\t{2}", 1, 1 * 1, 1 * 1 * 1);
Console.WriteLine("{@}\t{1}\t{2}", 2, 2 * 2, 2 * 2 * 2);
Console.WriteLine("{@}\t{1}\t{2}", 3, 3 * 3, 3 * 3 * 3);
Console.WriteLine("{@}\t{1}\t{2}", 4, 4 * 4, 4 * 4 * 4);
Console.WriteLine("{@}\t{1}\t{2}", 5, 5 * 5, 5 * 5 * 5);
Console.WriteLine("{@}\t{1}\t{2}", 6, 6 * 6, 6 * 6 * 6);
Console.WriteLine("{@}\t{1}\t{2}", 7, 7 * 7, 7 * 7 * 7);
Console.WriteLine("{@}\t{1}\t{2}", 8, 8 * 8, 8 * 8 * 8);
Console.WriteLine("{@}\t{1}\t{2}", 9, 9 * 9, 9 * 9 * 9);
Console.WriteLine("{@}\t{1}\t{2}",10,10*10,10 * 10 * 10);

Console.ReadKey();

}
}
}
|
0
1 1 1
2 4 8
3 9 27
4 16 64
5 25 125
6 36 216
7 49 343
8 64 512
9 81 729
10 100 1000
< | ’ ;

Aols dw b 1y pB, 31 3 & § Wi o0 T 1y OT pByI cobilgs 1) o0d yzeis Zuomo due & &5 (slaob y YV
WA g3 Sgod (295 WS 3509 [ FYTIA Sue o)l ST JloOlgied .5 0 Sl BOT oy
Resultis 4 2 3 3 9

WKV gue-y
g | N
S s | temp
Jsl o3 rl
using System; o) 20
namespace p33 035 0 2
class Program o5 05 r3
¢ ; r4
static void Main(string[] args) eler o5
! nd I B

int n, temp, ri, r2, r3, r4, r5;
Console.Write("Enter a number between 10000 to 99999:");
n = int.Parse(Console.ReadLine());

temp = n;

r5 = temp % 10;
temp = temp / 10;
r4 = temp % 10;
temp = temp / 10;
r3 = temp % 10;
temp = temp / 10;
r2 = temp % 10;
temp = temp / 10;
rl = temp % 10;
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temp = temp / 10;
Console.WriteLine("Result is{@}{1}{2}{3}{4}",r1,r2,r3,r4,r5);
Console.ReadKey();

Aol g3 NS oo A o 4 o 5 gl 4 1y geme &5 039 45 (SlAob 5 .l (w9l FOTYFAY o5 g YF
S 1T 1) Al ol ABles o Olo) g B udd 0 ojl! gyl 4

using System; Gud s
namespace _34 >
{ u.':' “ aMJ;__.lJ ton
lass Program
¢ & ESTIEANEY ons
static void Main(string[] args) o & o ek Al rate

const float rate = 35273.92f;
float ton, ons;
while (true)

Console.Write( "Enter ons [-1 to end]:");
ons = float.Parse (Console.ReadLine());
if (ons == -1) break;

ton = ons / rate;

Console.WriteLine( "Ton is {@}", ton ) ;

Console.ReadKey();

on is 0.0002834956
Enter ons [-1 to end]:120
on is 0.003401947

Enter ons [-1 to end]:~-1

.
< J | s

Cdluo 9 g w3 13 97 Jano g5l (5 pcn 93 39 O a0 457 (ST4ob g ool B < FEFIVA Joko s & YO
A 0 lei 1y I 4 Blo B (8151 4 O a0 Ly B 5 blo 4 15 OT o b

using System; i ”
namespace p35 )ﬁ‘“
A4 o e | Liter
Elass Program FpEE il
static void Main(string[] args) SE 4 s e | gallon
{ _ i
float liter, gallon, mile; S 4 bl Oz | result

double result;
Console.Write("Enter liter:");
liter = float.Parse(Console.ReadlLine());
Console.Write("Enter mile:");

mile = float.Parse(Console.ReadlLine());
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result = (double) (mile / 1liter) * 0.264179;;
Console.WriteLine("miles / gallons is {@}",result );
Console.ReadKey();

}
}}
[M file-///D-/BookCSharp/newCSharpPractic/1/p35/p35/bin/Debug/p35.EXE - |0 X

[« | '
S o (gwled 1y Ol o 9 &0 oXlgS 15 (§0us 45 (Sldali y ANd
using System; ; =
namespace p3é S 20
o.L:o..Ub& dde X

class Program
static void Main(string[] args)

float x;

Console.Write("Enter x:");

x = float.Parse(Console.ReadLine());

Console.WriteLine( "{@0} ~ 2 = {1}\n{@} ~ 3 = {2}",x,X*X,Xx*Xx * X);
Console.ReadKey();

Enter Xx:A4 -
4 A 2 = 16
4 A 3 = 64

— :J
| | [r] £
JeoB b1 OT ol 03 5" 8l s 1548393 (N g b @) syl g Silgn aho 90 &5 Slaoli y YV
1S 0 dslxo g )
s=h*(a+b) /2
using System; R ..
namespace p37 oo >
s |2
class Program - b
{ Sl
static void Main(string[] args) £, h
{
float a, b, h, s; ol |S
Console.Write("Enter a:");
a = float.Parse(Console.ReadLine());
Console.Write("Enter b:");
b = float.Parse(Console.ReadLine());
Console.Write("Enter h:");
h = float.Parse(Console.ReadLine());
s=h*(a+b)/ 2;
Console.WriteLine("S is {@}", s);
Console.ReadKey();
}
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using System; Gud so
namespace p38

LS a5 YN i T las | pi ot

class Program =
g -\SLSA 6)1)&\) aJ.j:a.;\.Sl‘,S-tlx.:

st?tic void Main(string[] S n 58 1y 0 13 Comle a
args _
{ .ﬁ@d)\b&‘)bﬂlb.}d@ p

const double PI = Math.PI;
double r, a, p, n;
Console.Write("Enter r:");

LS o 513K Ty 0 s s n

r = double.Parse(Console.ReadLine());
n=2%r;
p =n * PI;

a PI * r * r;
Console.WriteLine("n={0}\n p={1}\n a = {2}",n,p,a);
Console.ReadKey();

| 2N | D] 4
9 ol o) Ad 0 Salod 1y OT o8 9 ol cdausmo oilgs 1) 0 18 Slad & (ST4ab » YA
(Nigd oo Dl ) D)god 0918 4
opldtame=2% ekl *
opld Colw =T * (£lad)?
opls BE=2* elxb

nter r:13

n =26

p = 81.6814089933346
a = 530.929158456675

J o

il 4l Nz 9 39 N olo Wi T o0 cemd 0l Sl 4 1) (Sdue & STaliy Y4
395=YP0Y0* Jlw

°l°=59)/ Y. 436 255)* YY*g.* 2.
Jlw @ S>g,9 dac Year
o3 w0 s ¢ day
. BTN
using System; ay o s sac | month
namespace p39 i T b
class Program e z_ﬁ second
{ "



